&mm MODEL : FL SC 00813-US

PANEL POSITION

N

N

L=

=
)
=5
=]
ey
.
X
iD
<

CHEMICAL HANDLE WITH CARE

KEEP DRY

HARD SURFACE

ACCESSORIES QUANTITY
% WOOD DOWEL M8 x 30 12 PCS
% MINIFIX M5 x 24 4PCS
% IRON SHELF SUPPORT 20 PCS
% CASING 4PCS
Q INSERT SUPPORT 1PC
\ CAPWOOD M6 x 50 4PCS
Q WHITE PIN LEG 4PCS

% PVC "H" RAIL 1PC
,’9 STUB 4PCS

ﬂ\ SCREW M3 x 20 (SV) 4PCS

‘ L-BRACKET 1PC
[

% SCREW M3.5 x 16 1PC
% WALL PLUG 1PC
\ SCREW M4 x 28 1PC
K SCREW M7 x 50 8 PCS
R DOOR HINGES 5/8" 4PCS

Y SCREWM35x16 24 PCS

J ALLEN KEY 1PC

% WOOD DOWEL M6 x 30 17 BCS

Printed On 20-05-2017 4:10:48 PM

Page 2 of 7



w2 w2
= =
la-] la-]
w —
—
(]
g
@)
[75]
[\8)
o
a
75}
o
g oD
(@)
w2
S
g
Q
[#2]
i
@)
g
al// -
751
w2 w2
! =
o~} o=}
£ N
(3]
g
OG@
7]
S
g
@]
w2
ol
- SRS
@}
O
g
o
w2

/
ATENASSY LIAVIS

Page 5 of 7

Printed On 20-05-2017 4:10:48 PM







g

35

i
<

/

Y/

S

N

/7777 /




g

4 /
/
P VINNN

7

/
' \\\\\%
INNAN




L1 da1s
/

3

- : :

a a
Q w
E =
g

] ﬁ

-
%

Id 1
(
ONITIFA

1

Page 3 of 7

Printed On 20-05-2017 4:10:48 PM



http://www.tcpdf.org

